Integer Problem:

Maximize z = 3z1 + 229

subject to

221+ a2 < 12
1+ 322 < 15

(1,29) >0 in Z2



Canonical Form:

Maximize z = 3z1 + 229

subject to

201+ xo +uq = 12
x1 + 3%2 +uy = 15

(21,2, u1,up) > 0 in Z*



Uy

U2

Ty T2 U1 U2
2 1 1 0 12
1 3 0 1 15
3 -2 0 0 0




Uy

U2

Ty T2 U1 U2
2 1 1 0 12
1 3 0 1 15
3 -2 0 0 0




Uy

U2

Ty T2 U1 U2
2 1 1 0 12
1 3 0 1 15
3 -2 0 0 0




U2

1 ) uy U2
1 V2 12 0 6
1 3 0 1 15
3 -2 0 0 0




T

U2

Ko To

Uy U9
1 1/2 1/2 0 6
0 52  -12 1 9
0 -2 32 0 18




T

U2

Ko To

Uy U9
1 1/2 1/2 0 6
0 52  -12 1 9
0 -2 32 0 18




T

U2

Ko To

Uy U9
1 1/2 1/2 0 6
0 52) -12 1 9
0 -2 32 0 18




T

I T2 ul Uo

1 V2 12 0 6
0 1 -5 2/5 | 18/5
0o U2 32 0 18




T

T2

1 T2 Ul

U2
1 0 35 -U5 | 215
0 1) -U5 25 | 185
0 0 715 15 | 99/5




] To Ul

U2
T 1 0 35 -5 | 215
T2 0 1 U5 2/5 | (185
0 0 7/5 U5 | 995

18
= and

1 2
Tog — gUL + U2 =

(z1,T2,u1,u2) > 0 in Z*
vo b -2 + 2 < [

To—u < 3



T

€2

us

Z1

Z2 U1 U2 u3
1 0 35 -1/5 0 21/5
0 1 -1/5  2/5 0 18/5
0 1 -1 0 1 3
0 0 7/5 15 0 99/5




T

€2

us

Z1

Z2 U1 U2 u3
1 0 35 -1/5 0 21/5
0 1 -1/5  2/5 0 18/5
0 1 -1 0 1 3
0 0 7/5 15 0 99/5




T

€2

us

Z1 T2 Uy U2 us

1 0 35 -1/5 0 21/5
0 1 -1/5  2/5 0 18/5
0 0 -4/5  -2/5 1 -3/5
0 0 715 5 0 99/5




T

€2

us

Z1 T2 Uy U2 us

1 0 35 -1/5 0 21/5
0 1 -1/5  2/5 0 18/5
0 0 -4/5  -2/5 1 -3/5
0 0 715 5 0 99/5




T

€2

us

Z1 T2 Uy U2 us

1 0 35 -1/5 0 21/5
0 1 -1/5  2/5 0 18/5
0 0 -4/5  (-2/5 1 -3/5
0 0 715 5 0 99/5




T

€2

Z1

X9 Ul U9 U3

1 0 35 -5 0 | 215
0 1 -us 25 0 | 1855
0 0 2 1 52 | 32
0 0 75 15 0 | 995




T

€2

U2

Z1 T2 Uy U2 us

1 0 1 0 -2 9/2
0 1 -1 0 1 3
0 0 2 1 -5/2 3/2
0 0 1 0 12 39/2




x1 T2 U1 U2 us

1 1 0 1 0 -1/2 9/2
T2 0 1 -1 0 1 3
U 0 0 2 1 -5/2 3/2

0 0 1 0 2 | 39/2

1 9

r1+ur —zus = 5 and (21,9, u1, Uz, uz) > 0 in Z°

T1+u —uz < 4



T

€2

U2

Uy

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
1 0 1 0 -1 1 4
0 0 1 0 12 0 39/2




T

€2

U2

Uy

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
1 0 1 0 -1 1 4
0 0 1 0 12 0 39/2




T

€2

U2

Uy

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
0 0 0 0 -2 1 -2
0 0 1 0 12 0 39/2




T

€2

U2

Uy

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
0 0 0 0 -2 1 -2
0 0 1 0 12 0 39/2




T

€2

U2

Uy

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
0 0 0 0 -1/2 1 -2
0 0 1 0 12 0 39/2




T

€2

U2

xr1 X9 U Ug us Uy

1 0 1 0 -2 0 9/2
0 1 -1 0 1 0 3
0 0 2 1 -5/2 0 3/2
0 0 0 0 1 -2 1
0 0 1 0 12 0 39/2




T

€2

U2

us

xr1 X9 U Ug us Uy

1 0 1 0 0 -1 5
0 1 -1 0 0 2 2
0 0 2 1 0 -5 4
0 0 0 0 1 -2 1
0 0 1 0 0 1 19




T

€2

U2

us

xr1 X9 U Ug us Uy

1 0 1 0 0 -1 5
0 1 -1 0 0 2 2
0 0 2 1 0 -5 4
0 0 0 0 1 -2 1
0 0 1 0 0 1 19

Optimal solution: (z1,z2) = (5,2)




